New Treasure Plus (Second Edition) 2A 1of 1
Challenging reading and comprehension Unit 3

Answer key

Comprehension 2

1 |think Adam felt angry after he read the 11 to express his views on the benefits of
newspaper article. He said that he urban farming

found it ‘unacceptable’ that we import 12 Yes, | think there is at least one

so much food. (any reasonable answer) disadvantage to urban farming. Because

2 i) T there are many cars in cities, there is
i) T also a lot of pollution. This may make
the food grown in cities less healthy to
i) NG eat. / No, | don’t think there are any
iv) F disadvantages to urban farming. This is

3 i) rooftops a practice we must start doing

. immediately in order to protect the
ii) vacant lots

environment. (any reasonable answer)

4 i) auseful weapon

ii) the battle
5 carbon dioxide
6 more nutritious food

produce oxygen

absorb heat from the sun

create food for people

7 i) Itis harvested before itis ripe.

ii) Itloses nutrients during its lengthy

journey.

8 urban farming can produce healthier

food (any reasonable answer)
9 economic

10 hiring homeless people as labourers
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